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R BREGH BREE AN BREGH HREEE
ER226F | FR21E | BR[| T2 | FR21E| BR[| TFR22F | FR21E| BIE | TFR22E | FER21E| BE | FR22E | FR21E| BR[| FR22E| FR21E| B
B T # % 134 188 -54 120 120 89.6 63.8 258 2,134 2,558 -424 1,131 1,023 108 53.0 400 13.0
[ 1T ) 50 56 -6 39 35 4 78.0 62.5 15.5 922 1,159 -237 467 391 76 50.7 337 17.0
554X 22 21 1 14 13 1 63.6 61.9 17 455 434 21 215 118 97 473 272 20.1
2bH R 15 8 7 10 3 7 66.7 375 29.2 160 151 9 77 25 52 48.1 16.6 315
SHREK 7 4 3 6 3 3 85.7 75.0 10.7 93 96 -3 33 22 11 355 229 12.6
SHEK 6 7 -1 7 4 3 116.7 57.1 59.6 214 169 45 86 23 63 402 13.6 26.6
2 B 0w 56 54 2 52 38 14 929 704 225 489 523 -34 222 207 15 454 39.6 58
b= TT R ) 7 21 -14 6 11 -5 85.7 52.4 333 145 195 -50 99 103 -4 68.3 52.8 155
E B W 1 3 -2 2 -2 66.7 -66.7 44 58 -14 37 21 16 84.1 36.2 47.9
¥ MM W 2 4 -2 3 2 1 150.0 50.0 100.0 48 48 31 30 1 64.6 62.5 2.1
R 1 3 -2 2 1 1 200.0 333 166.7 31 18 13 14 13 1 452 722 -270
B o ™ 2 6 -4 1 2 -1 50.0 333 16.7 65 60 5 28 29 -1 431 483 -5.2
=5 B W 1 1 1 1 100.0 100.0 13 15 -2 10 11 -1 76.9 733 3.6
@ OR W 1 3 -2 1 1 100.0 333 66.7 16 13 3 14 6 8 875 46.2 413
" @1 W 3 10 -7 2 5 -3 66.7 50.0 16.7 59 66 -7 39 21 18 66.1 31.8 343
WFEF AT 2 3 -1 1 1 50.0 333 16.7 38 42 -4 13 14 -1 34.2 333 0.9
B mWm - - 46 54 -8 21 20 1 457 370 8.7
E E ™ 4 -4 4 -4 -| 1000 | -1000 23 27 -4 22 11 11 95.7 40.7 55.0
x W 2 1 4 2 2 133.3 100.0 33.3 22 48 -26 11 28 -17 50.0 58.3 -8.3
% 0O ™ 7 -5 4 5 -1 200.0 714 128.6 41 64 -23 27 47 -20 65.9 734 -5
1 UERF0 < ET 1 -1 1 -1 - 1000 | -100.0 29 51 -22 21 13 8 724 255 46.9
EME R SHET - - 25 8 17 2 4 -2 8.0 50.0 -420
% OBD B HT 1 1 1 1 100.0 100.0 11 10 1 2 5 -3 18.2 50.0 -318
/1N B 2K BT 3 -3 1 2 -1 - 66.7 -66.7 6 14 -8 12 3 9 200.0 214 178.6

BEREAIER - - 1 1 -
= H AR 8% BF AT 3 -3 2 -2 - 66.7 -66.7 16 13 3 3 4 -1 18.8 30.8 -12.0
R4 EB B0 g o BT - - 7 21 -14 15 11 4 2143 524 161.9
Fé5 FH BB 2= S AT - - 2 7 -5 3 7 -4 150.0 100.0 50.0
EABERAFR - - 1 1 2 1 1 200.0 100.0 100.0
AKREBAKFGET - - 9 5 4 7 4 3 778 80.0 -2.2
A K BB 3 R T 1 -1 - - 16 25 -9 4 1 -7 25.0 440 -19.0
AN B (s ch T 1 1 1 1 100.0 -| 1000 8 12 -4 3 2 1 375 16.7 208

Z O ith O T BT - - 2 5 -3 - -
]85 1 3 -2 1 3 -2 100.0 100.0 1 1 1 -1 1000 | -100.0




